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ÿoˆÁTˆ„EıÁw¯Ã[˝ YÁPˆy‘] ( P. G.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 / L«X, 2015 
Social Work 

ªJÙT«ˆUÔ Yy [ 4th Paper : Man And Society ]  

a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 80% ) 
( Weightage of Marks : 80% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

( Sociology ) 
( Full marks = 50 ) 

◊[˝\ˆÁG - Eı 
Group - A 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  
     Answer any one question.  18 × 1 = 18  
1. ◊[˝`üÁÃ^„XÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO Y◊Ã[˝ÿˆï«ıªRÙO EıÃ[˝”X* \ˆÁÃ[˝„TˆÃ[˝ aÁ]Á◊LEı C 

aÁeï ı◊TˆEı GPˆX EıÁPˆÁ„]ÁÃ^ ◊[˝`üÁÃ^„XÃ[˝ Y“\ˆÁ[˝ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

 Explain the concept of globalization. Discuss the 
effects of globalization on Indian social and 
cultural structures. 6 + 12 

2. =YLÁ◊Tˆ a]ÁL [˝_„Tˆ ◊Eı Â[˝Á„MıX ? =YLÁ◊Tˆ a]Á„LÃ[˝ 
Y“W˝ÁX È[˝◊`rÙÓm◊_ ◊_F«X* ◊`îÁÃ^X C XGÃ[˝ÁÃ^„SÃ[˝ LXÓ Ac˜O 
=YLÁ◊Tˆ a]ÁL Eı›\ˆÁ„[˝ Y“\ˆÁ◊[˝Tˆ c˜‰¨K˜ ? 

 What do you understand by tribal society ? 
Explain its principal features. How is the tribal 
society changing as a result of industrialization 
and urbanization ? 4 + 4 + 10 

◊[˝\ˆÁG - F 

Group - B 

   Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any two questions.  12 × 2 = 24  

3. aIH C Y“◊TˆúˆÁX [˝_„Tˆ ◊Eı Â[˝Á„MıX ? =\ˆ„Ã^Ã[˝ ]„W˝Ó Â^ 
YÁUÔEıÓ TˆÁÃ[˝ ◊[˝[˝Ã[˝S ◊VX* 

 What do you understand by association and 
institution ? Elaborate their differences. 6 + 6 

4. %YÃ[˝Á„W˝Ã[˝ aep˚Á ◊XÃ[˝÷YS EıÃ[˝”X* aÁ]Á◊LEı %YÃ[˝ÁW˝ 
aeG◊PˆTˆ c˜CÃ^ÁÃ[˝ ◊YªK˜„X Â^ ◊[˝◊\ˆ~ EıÁÃ[˝Sm◊_ ◊[˝VÓ]ÁX TˆÁÃ[˝ 
AEı◊ªRÙO ae◊l˘ä Y◊Ã[˝ªJÙÃ^ ◊VX* 

 Define crime. Write briefly the main causes 
behind the committance of social crimes. 4 + 8 

5. %ÁW˝«◊XEıTˆÁ EıÁ„Eı [˝„_ ? %◊W˝EıÁÃ[˝ a+„EÔı a]ÁL 
a‰ªJÙTˆXTˆÁÃ[˝ =YÃ[˝ %ÁW˝«◊XEıTˆÁ Eı›\ˆÁ„[˝ Y“\ˆÁ[˝ ÂZı„_‰ªK˜ ? 

 What is modernization ? What has been the 
impact of modernization on the social awareness 
of rights in the society ? 6 + 6 
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6. aÁ]Á◊LEı C %UÔÍX◊TˆEı Y◊Ã[˝[˝Tˆ¤X Eı›\ˆÁ„[˝ ◊[˝[˝Ác˜ Y“◊TˆúˆÁX„Eı 

Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝‰ªK˜ TˆÁ Â[˝ÁMıÁX* 

 Explain how social and economic changes have 
influenced the institution of marriage. 6 + 6 

◊[˝\ˆÁG - G 
Group - C 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

    Answer any one question.  8 × 1 = 8 
7. a]Á„L [˝Ã^ïı ]ÁX«b„VÃ[˝ Eı›\ˆÁ„[˝ %Y[˝Ó[˝c˜ÁÃ[˝ EıÃ[˝Á c˜Ã^ TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* [˝Tˆ¤]ÁX a]„Ã^ Ac˜O %Y[˝Ó[˝c˜Á„Ã[˝Ã[˝ Y“ÁU◊]Eı 
EıÁÃ[˝Sm◊_ Eı› ? 

 Discuss how the elderly persons are abused in 
our society. What are the primary reasons for 
such abuse in the present times ? 4 + 4 

8. a]Á„L ÈX◊TˆEı C aÁ]Á◊LEı ]Á„XÃ[˝ Â^\ˆÁ„[˝ ◊[˝ªJ«ÙÓ◊Tˆ [˝ ◊à˘ 
YÁ‰¨K˜ TˆÁÃ[˝ ÊY“◊l˘„Tˆ a]ÁL ◊XÃ^‹óˆ„SÃ[˝ TˆÁdY^Ô Â[˝ÁMıÁX* 

 Explain the significance of social control in the 
context of increasing moral and social deviance 
in our society. 8 
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 ( Indian Economic System ) 
( Full marks = 50 ) 

◊[˝\ˆÁG - Eı 
Group - A 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any one question.  18 × 1 = 18 

1. %UÔÍX◊TˆEı [˝Ó[˝ÿöˆÁ EıÁ„Eı [˝„_ ? ]…_ %UÔÍX◊TˆEı a]aÓÁÃ[˝ 

a]ÁW˝Á„XÃ[˝ LXÓ Â^ aEı_ ◊[˝Eıî %UÔÍX◊TˆEı [˝Ó[˝ÿöˆÁa]…c˜ 

%Á‰ªK˜, Âam◊_Ã[˝ B◊Tˆc˜Á◊aEı ÊY“l˘ÁYªRÙO ac˜„^Á„G [˝SÔXÁ 

EıÃ[˝”X* 

 What is an economic system ? Make a list of the 

key alternative economic systems as a solution of 

main economic problems, describing each with 

its history. 2 + 16 

2. \ˆÁÃ[˝Tˆ[˝„bÔ %UÔÍX◊TˆEı =~Ã^X Y“◊y‘Ã^Á TˆÃ[˝Á◊SüTˆ c˜[˝ÁÃ[˝ a„Ü 

a„Ü LÁTˆ›Ã^ %Á„Ã^Ã[˝ Â^ Âl˘yGTˆ Y◊Ã[˝[˝Tˆ¤X Y◊Ã[˝_◊l˘Tˆ c˜Ã^ 

TˆÁ ◊[˝[˝ Tˆ EıÃ[˝”X* \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ Yá˚[˝Á◊bÔEı› Y◊Ã[˝EıîXÁÃ[˝ ]…_ 

È[˝◊`rÙÓm◊_Ã[˝ [˝SÔXÁ ◊VX* 

 What changes in the sectoral distribution of 

national income are found with the process of 

economic development in India ? What were the 

main features of India's Five-Year Plans ? 9 + 9 

◊[˝\ˆÁG - F 

Group - B 

   Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any two questions.  12 × 2 = 24 

3. \ˆÁÃ[˝„Tˆ Y“ÁU◊]Eı ◊`l˘Á [˝Ó[˝ÿöˆÁÃ[˝ =~Ã^„X Yá˚[˝Á◊bÔEı› 

Y◊Ã[˝EıîXÁEıÁ„_ Â^ aEı_ YV„l˘Ym◊_ G c˜›Tˆ c˜„Ã^◊ªK˜_, TˆÁÃ[˝ 

◊[˝[˝Ã[˝S ◊VX* 

 What steps were taken under Five-Year Plans to 

improve the elementary educational system in 

India ? 12 

4. ÿëˆÁW˝›XTˆÁÃ[˝ YÃ[˝ ÂU„Eı Eı]ÔaeÿöˆÁ„XÃ[˝ a«„^ÁG [˝ ◊à˘Ã[˝ LXÓ Â^ 

aEı_ Eı]Ôa…ªJÙ› \ˆÁÃ[˝Tˆ aÃ[˝EıÁÃ[˝ G–c˜S Eı„Ã[˝‰ªK˜X, TˆÁ ae„l˘„Y 

◊[˝[˝ Tˆ EıÃ[˝”X* 

 Briefly outline the major employment generation 

programmes initiated by the Government of India 

since independence. 12 

5. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ ◊`„îÁ~Ã^„XÃ[˝ Y„U Â^ Y“W˝ÁX a]aÓÁm◊_ %Á‰ªK˜, 

TˆÁÃ[˝ AEı◊ªRÙO ◊[˝[˝Ã[˝S ◊VX* 

 What are the main problems associated with 

India's industrial development ? 12 
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6. "AEıÁ‹ôˆ X…ÓXTˆ] Y“‰ªJÙrÙÁÃ[˝' Tˆ√º¯◊ªRÙO„Eı [˝ÓÁFÓÁ EıÃ[˝”X A[˝e Ac˜O 

Tˆ„√º¯Ã[˝ a«◊[˝W˝Á C %a«◊[˝W˝ÁÃ[˝ ◊VEım◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 Explain the 'Critical Minimum Effort' theory and 

mention its strengths and weaknesses. 8 + 4 

◊[˝\ˆÁG - G 

Group - C 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any one question.  8 × 1 = 8 

7. =~Ã^X`›_ ÂV„`Ã[˝ X›◊Tˆ ◊XW˝ÔÁÃ[˝„SÃ[˝ Âl˘‰y ◊_=c˜Oa ]„Qˆ„_Ã[˝ 

EıÁ^ÔEıÁ◊Ã[˝TˆÁ EıTˆªRÙOÁ mÃ[˝”±ºˆY…SÔ ? 

 Trace the importance of Lewis model in 

formulating policies for developing nations.  

8. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ `c˜„Ã[˝Ã[˝ Y“W˝ÁX a]aÓÁm◊_„Eı V…Ã[˝ EıÃ[˝ÁÃ[˝ _„l˘Ó 

A^Á[˝dEıÁ_ Y^Ô‹ôˆ ÿöˆÁX›Ã^ XGÃ[˝ Y“`ÁaX / ÂYÏÃ[˝a\ˆÁm◊_ ◊Eı 

◊Eı YV„l˘Y G–c˜S Eı„Ã[˝‰ªK˜ ? 

 What are the measures taken up so far by 

Municipalities / Corporations to address the 

major problems faced by cities / towns of India ? 

9. G–Á]›S A_ÁEıÁÃ̂  ÂEıÁXÀ ÂEıÁXÀ %Á[˝ÁaX aey‘Á‹ôˆ ◊[˝bÃ^m◊_Ã[˝ 

=YÃ[˝ ◊[˝„`b XLÃ[˝ ÂVCÃ^Á Y“„Ã^ÁLX ? 

 What are the major housing issues in rural areas 

which need special attention ? 

10. \ˆÁÃ[˝Tˆ[˝„bÔ G–Á]›S =~Ã^„XÃ[˝ Y“W˝ÁX _l˘Óm◊_ ◊Eı ◊Eı ? 

 What are the major objectives of rural 

development in India ? 

    


